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NoTE:— Answers may be written either in Engllsh orin Hmdl but the same medlum should be

fewmoit:—

used throughout the paper.

swyma;ramarﬁa?mfﬁ?ﬁﬂﬁmwﬁﬁmF‘ff‘a;:rmﬁaaﬁa;rnrm
TF & &1 @Eq

The paper is divided into three Sections A, B and C. All questions from each Section should be

(®)

(a)

(b)

(b)

attempted together. All questions are compulsory.

T T & S AT TEF T F o amy S &
SEcTION A (WTT &)

Briefly discuss the distribution of the National Income to the factors of production.

ST T IR F FRE F o F wAw F fadm wif : 5

Explain the Baumol Tobiq cash ménagement approach to demand for money.

TR S AT F ST Afed U T Y IUTH H AT HfSQ | 10
Or (steram) | |

What would happen in the economy at full employment if the level of investment
were to increase?

qof AR = Feafa & srefereen W @ oR W Afg fawr 1w aer fan S 2s
What are the different types of invevstment? Explain them.

e =t fafe fet =/ €2 399 =amen s | ) 10

Explain the derivation of the IS curve. What factors determine the slope of the IS
curve?

IS W% & S F UG KT | HF A F IS 9% A ga I A9 w228

What is the impact of an increase in autonomous spending on the equilibrium level of
income and the rate of interest?
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. | Or (319ram) ‘ :
(a) In the context of the IS curve examine the effectiveness of fiscal policy in the
following: ,
(i)  Keynesian ‘range ~(ii) Classical case.
Isw%mﬁﬁﬁwﬁf@aﬁmﬁﬁraﬁqmaﬂaﬁaﬁﬁm ,
(i) AT W (i) et 4 | 8

(b) What is Crowding Out? How can it be accommodated with a monetary expansion?
FISIET S =741 Qe R 7 wife ForeaR & aner swer mrse S frar S e 22 7

SEcTION B (W @)
3. Given that:
feam o ? fom:
C=200+0-8Y4
Yi=Y-Y
- t=025
I=700-50¢
G=800
. L=0-25Y-62-5i
M/p=500
Find
(a) The equation of the IS curve
(b) The equation of the LM curve
(c) The equilibrium of the économy
(d) The effect of a change in ¢ from 0-25 to 0.-375 on the equilibriu.m
(¢) The effect of a change in G from 800 to 1100 on the IS curve. ’
7 : ,
(a) IS & S WIS
(b) LM gk =t HHiEHo
(c) rfeyaE 1 WgeA
(d) ¢ ®0-25 ¥ 0-375 T U F e W ¥4
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(e) G ¥ 800 ¥ 100 TF F WS & IS 9F W Y& | S 15

Oor (31gan)
Given that:

fean e @ fe—

C=100+0-75Y4
1=200-8i

- G=150
T=0-2Y
L=0-4Y-2i
M=800

P=2

Find:

(a) The equation of the IS curve
(b) The equation of thé LM curve
(c) The equilibriuin of the economy

(d) The effect of a change in money‘supply from 800 to 1200 on the LM curve
(e) The effect of a change in G from 150 to 200 on the IS curve.

1 HATC;

(a) IS dsh H HHIHIT

(b) LM dsh Sl HHIHTT

(c). Frefeeren & Hqed |

(d) TE1 qfd & 800 ¥ 1200 T IR H LM T R I

(e) G ® 150 ¥ 200 T & UREdT &l IS TH W INTH | | 15

SecTiOoN C (WRT )
(a) Derive the dynamic aggregate demand curve.
Tfas |E AT 956 H FA HIATC | ) 8
(b) Explain ‘Gradualism’ and ‘Cold Turkey’ strategies to control inflation.
Aufee’ ok ‘Fies T wHfTE % wifs fe W swe # e S 7
" Or (3eram)
(¢) Examine the effects of monetary expansion on the equilibrium output and the price

level in the short run, medium term and the long run. Comment on the neutrality of

money.
Turn over
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(b)

(b)
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(b)

Note:

e

4
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W W 996l H AT ST | 8
What is wait unemployment? What are its causes? 7

AU AR A L ? TS T HRO §?

Discuss short run equilibrium level of nominal exchange rate and income level in the
Mundell-Fleming model in a small open economy. What are the underlying
assumptions?

aﬁqﬁaﬁwawﬁmﬁﬁﬁwatérmawwaﬁsﬁtg%aqﬁm

Hise # o W A e HIT | 56 WS afig @ @2 10

Explain the concept of net capital-outflow in a large open economy. _

St geit srdfeaeen 7 frae §st yow # Hewhoww i wrenm #fww. 5
Or (31rE)

Discuss the short run IS-LM model of a large open economy. What are the effects of
expansionary fiscal policy on exchange rate and net exports in a large open economy?

T2 gt sfomaen & oeuEfy ISLM Wied ® fEe wifem) @@ gt
sreforaen & faareita qorrta fif % fafma @ © ok fae fafd W e g

MW R? 5,5
Distinguish between nominal exchange rate and real exchange rate.
T fafma R R arfaes fafme @ & s sar 5

Kindly note that no diagrams are required for visually impaired and heanng impaired
and in lieu of Question No. 3, attempt the following question:

memé&wwg@#ﬁaaﬂzquqﬁm#m@%‘?é#?sﬁzm
"ear 3 3t waw § fEfafad 599 3 Fr 8

6. Write short notes on the following:

(i)

LM Curve

(ii) Frictional unemployment

(iii) Fixed and Flexible exchange rates.

frafafad w dfa fewforat fafae

(i)

LM g

(ii) =it %frsrrnﬁ

(iii) fer sitt rsfteft fafma <X | 9
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